بسم الله الرحمن الرحيم 

اخواني و اخواتي طلاب سنة اولى

بين اييدكم مجموعة من الأسئلة على ما اخذناه في الأسبوعين السابقيين ، مع العلم انني حاولت دمج أكثر من معلومة في سؤال واحد لذلك سترون الكثير من  

 Regarding , choose the correct and choose the incorrect 

 وفي نهاية كل صفحة هناك مربع صغير يوضح رقم السؤال و الإجابة  و للمعلومية فقد تمت مراجعتها من الدكتور/مصطفى  مشكورا

                                                                               و اتمنى التوفيق للجميع   Dr. Abdullah Z 


1- regarding the kidney
A- getting a urine sample can tell us if a person has leukemia 

B-  during proteins digestion  experiments we measure amino  acids in urine

C- Epinephrine & Nor epinephrine play apart in controlling GFR

D-  AngiotesinII decrease GFR and plays the same role as sympathetic 

E-  none is correct 

2- Choose the incorrect statement 

A- GFR between 30mmHg-40mmHg is normal 

B- A person with hypernatremia ( Na) will exeret  more albumin in urine due to increase (+) charge is bowman’s capsule 

C-  Each kidney is 150g in average 

D-  A and B

E-  none is  correct 

3- Choose the incorrect statement 

A- very Rich protein diet will be reflected in increase amino acid in urine 

B-  Dehydration will have no effect on filtration 

C- Closing of Na-K-2Cl channels will increase water execrated 

D-  Increase contraction of efferent arterioles will increase filtration and absorption 

E-  all are correct  

4- Regarding GFR the minimal force that control it is 

A- PG
B- PB
C- πG
D- πB
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E- None is correct 

5- regarding functional anatomy of the kidney 

A- Juxtamedullary is found in the Cortex 

B- The Deseeding loop of Henle is thick 

C- The renal pyramids contain collecting tube

D- None is correct 

E- B and C are correct 

6- regarding renal PSL 

A- The afferent and efferent arterioles can control filtration and reabsorbtion 
B-  With aging, Urine gets more concentrated due to increase juxtamedullary 

C- Input of 100mg of glucose = output of 60mg  

D- All inulin is reabsorbed  

E- None is correct 

7- chooses the incorrect statement about the kidney 
A- The kidney regulate water balance 

B- The kidney regulate PH 

C- Excreted waste products 

D- Glucongenesis 

E- Gets 50% of CO 

8- choose the correct statment about Filtration fraction 

A- Increase PG will increase it 

B- Decrease PB will increase it 

C- Decease πB will increase it 

D-  A and B

E-  B and C  
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9- Regarding the GFR and RBF 
A- Prostaglandins and bradykinin are vasoconstriction effects  

B-  AngiotensinII increase both GFR and RBF

C-  Epi & Nor-epi decrease RBF and GFR

D- Decrease GFR will decrease reabsorbtion overall 

E-  None is correct

10- choose the correct statement:
A- Decrease   Afferent arteriolar resistance will decrease PG
B- Increase Afferent arteriolar resistance will increase PG
C- Decrease Efferent arteriolar resistance will increase PG
D- Increase Efferent arteriolar resistance will increase PG
E- Afferent and efferent arterioles will have no effect on PG 

11- regarding GFR 

A- A person with chronic hypertension will have more filtration 

B-  Permeability will increase with hypertension 

C- Kf will be reduced due to increase permipallety 

D- Increase Bowman’s capsule pressure will increase Kf

E-  None is correct 

12- the following decrease GFR except 

A- Epi-nephrein 

B- Nor-epinephrine

C- Prostaglandin 

D- Endothelien

E- All increase GFR 
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13- which of the following increase Urine output 
A- Increase ADH

B- Increase   Pc
C- Increase πc
D- Increase Pif 

      E- decreased πif 

14- regarding the tubular reabsorbtion chooses the correct 

A- Glucose and Amino acid are reabsorbed in DT

B-  Hco3 can be reabsorbed nearly through all parts of the tubule 

C- Cl is secreted through Transcellular transport 

D- ADH deacrease water permeability 

E- All are correct 

15- which one of the following factors decrease reabsortion 

A- Decrease ADH 

B- Increase ANP

C- Decrease Aldostron 

D- Decrease ATII

E- All are correct 

16-regarding substance “ B “ 

A- If clearance (B) = 125ml/min it is filtered, absorbed and secreted 

B- If clearance (B)= 140ml/min it is filtered and secreted 

C- If clearance (B)= 90ml/min it is filtered and secreted 

D- If clearance (B)= 125ml/min it is not filtered 

E- All are none correct 

	Q
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17- PAH is measured 

A- GFR

B- RPF

C- Tubular absorbtion 

D- Urine out put 

E- None of above 

+                +

18- K and H concentration is regulatedThrough 
A- Secretion 

B- Absorbtion 

C- Increase parathyroid 

D- A and C

E- All are none correct 

19-which of the following substances doesn’t have Tmax
A- Glousce 

B- Amino acid 

C- Water 

D- A and B

E- All have Tmax 

20- substance that doesn’t have T max are depended on 

A- The electrochemical gradient 

B- Membrane permeability 

C- Tubular flow rate 

D- A and C only 

E- A, B and C 
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21- regarding Acid-base balance 

A- The kidney can regulate it 

B- The lung can regulate it 

C- Body fluids can regulate it 

D- PH=5 is normal 

E- All are correct 

22- regarding a person with respiratory acidosis
A- He will hyperventilate 

B- Pco2 will increase 

C- PH will decrease 

D- Kidneys will secret H 

E- All are correct 

23- which one of the following work inside the cell 
A- Protein system 

B- Bicarbonate system 

C- Phosphate system 

D- All work inside the cell 

E- None of above 

24- loose of  Hco3 will lead to 

A- Metabolic alkalosis 

B- Metabolic acidosis 

C- Respiratory acidosis 
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D- Respiratory alkalosis 
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